The Regular Meeting of the Olentangy Local Board of Education was called to order at the Olentangy High School by J. Wagner Feasel, president at 6:30 p.m.

Roll Call: D. King, present; M. Patrick, present; K. O'Brien, present; J. Wagner Feasel, present; Dr. L. Wyse, absent

Pledge of Allegiance

Approve K. O'Brien moved, M. Patrick seconded to approve the agenda for the June 10, Agenda 2021 Regular Board of Education Meeting.

21-148

Vote: K. O'Brien, yes; M. Patrick, yes; D. King, yes; J. Wagner Feasel, yes. Motion carried.

(Dr. L. Wyse entered the meeting at 6:48 p.m.)

#### Presentation

- A. <u>Food Service update</u> *Bethany Lenko*, Food Service Supervisor
- B. <u>Building Projects update</u> *Jeff Gordon*, Director of Business Management and Facilities; *Bill O'Sullivan*, *Bruce Runyon*
- C. <u>Strategic Planning update-Learning and Organizational Development</u> *Mark Raiff*, Superintendent

Board President's Report

Superintendent's Report

Treasurer's Report

Public Participation Session—

Amanda Clark - Masks being a choice

Christy Hoyt - CRT

Maureen Botos – Equity and Inclusion Action Plan

Sarah Narayana – Gratitude & Thanks

Holly Hanson - Thanks for a great year + graduation

Angela Pigman – Elementary/middle school Covid mask requirements

Time for Public Participation expired, but an additional 10 submissions are on file with the Treasurer's Office

#### **Discussion Items**

- A. Math/English resource renewal *Kristen Bourdage*, Curriculum Supervisor
- B. <u>Berlin Business Park and Ravines at Meadow Ridge TIF's</u> *Rob Platte*, Economic Development, Delaware County

Board Action K. O'Brien moved, D. King seconded to approve Board action items A-B

Items 21-149

- A. Approve Berlin Business Park TIF and 45-day notice waiver
- B. Approve Ravines at Meadows Ridge TIF and 45-day notice waiver

Vote: K. O'Brien, yes; D. King, yes; M. Patrick, yes; Dr. L. Wyse, yes; J. Wagner Feasel, yes.

Motion carried.

Board Action D. King moved, M. Patrick seconded to approve Board Action items C-G

Items 21-150

- C. Approve salary increase for those non-union classified employees who are employed under a contract with the Board of Education pursuant to R.C. 3319.081, effective July 1, 2021: 2021-2022 school year (2.5%)
- D. Approve salary increase for those non-union classified food service workers who are employed under a contract with the Board of Education pursuant to R.C. 3319.081, effective July 1, 2021: 2021-2022 school year (2.5%)
- E. Approve salary increase for those district administrators who are employed under a contract with the Board of Education pursuant to R.C. 3319.02, effective August 1, 2021: 2021-2022 school year (2.50%)
- F. Approve salary increase for the Superintendent, as employed under a contract with the Board of Education pursuant to R.C. Section 3319.01, effective August 1, 2021: 2021-2022 school year (2.50%)
- G. Approve salary increase for the Treasurer, as employed under a contract with the Board of Education pursuant to R.C. Section 3313.22, effective August 1, 2021: 2021-2022 school year (2.50%)

Vote: D. King, yes; M. Patrick, yes; K. O'Brien, yes; Dr. L. Wyse, yes; J. Wagner Feasel, yes.

Motion carried.

Supt. Action Items M. Patrick moved, Dr. L. Wyse seconded; to approve the following Superintendent Action Items A thru J

21-151 A. Specific Human Resources Items – Certified Staff

- 1. Approve administrative extended service contract days for the 2020-2021 school year
  - Gnagy, Greta K., Shale Meadows Elementary School, Principal, 10 days at \$3,761 total
- Approve certified extended service contract days for the 2020-21 school year: Litzenberg, Kristi S., Shale Meadows Elementary School, School Counselor, 5 days at \$2,887 total

Shoaf, Shane A., Orange Middle School, Assistant Principal, 10 days at \$3,077 total

3. Approve administrative extended service contract days for the 2021-2022 school year:

Employee Name	Position/Area	Location	Contract Days	s Salary
Evans, Sierra V.	School Social Worker	OLSD	10	\$ 2,437.84
Murph, Daniel S.	School Social Worker	OLSD	10	\$ 2,719.14
Norman, Samantha J.	School Social Worker	OLSD	10	\$ 2,654.43
Taylor, Shaytell D.	School Social Worker	OLSD	10	\$ 2,559.73
Wabwire, Alisa F.	School Social Worker	OLSD	10	\$ 2,561.30

4. Approve certified extended service contract days for the 2021-2022 school year:

Employee Name

Position/Area Location Contract Days Salary

Contract Days Salary

Employee Name	Position/Area	Location	Contract Days	Salary
Weaver, Mike M.	DECA/Marketing	OBHS	2	\$ 1,086.57
Wells, Eric B.	DECA/Marketing	OHS	2	\$ 851.05
Wohali, Britany R.	DECA/Marketing	OLHS	2	\$ 946.58
Shanahan, Chrystal L.	DECA/Marketing	OOHS	2	\$ 1,142.57
Glew, Trevor C.	Guidance	OA	15	\$ 6,889.38
Kigar, Samantha C.	Guidance	OBHS	15	\$ 4,328.76
Nicolay, Alexandria N.	Guidance	OBHS	15	\$ 4,671.16
Smith, Abigail M.	Guidance	OBHS	15	\$ 7,729.38
Stearns, Dana J.	Guidance	OBHS	15	\$ 7,309.38
Baumgartner, Matthew J.	Guidance	OHS	15	\$ 5,931.08
Hamilton, Whitney C.	Guidance	OHS	15	\$ 7,519.38
McKnight, Selena N.	Guidance	OHS	15	\$ 6,629.92
Naveau, Michael P.	Guidance	OHS	15	\$ 9,215.19
Wozniak, Lauren R.	Guidance	OHS	15	\$ 5,343.49
McGrew, Jill A.	Guidance	OLHS	15	\$ 5,535.81
Purlee, Jenna K.	Guidance	OLHS	15	\$ 7,939.30
Rafey, Angela M.	Guidance	OLHS	15	\$ 8,779.30
Sisko, Bobbie M.	Guidance	OLHS	15	\$ 6,889.38
Vallier, Brittany A.	Guidance	OLHS	15	\$ 7,099.38
Brown, Matthew K.	Guidance	OOHS	15	\$ 6,469.38
Gunther, Stephen P.	Guidance	OOHS	15	\$ 7,729.38
Hanna, Sarah N.	Guidance	OOHS	15	\$ 4,533.49
Otten, Pamela L.	Guidance	OOHS	15	\$ 9,215.19
Smith, Heath A.	Guidance	OOHS	15	\$ 5,839.38
Rock, Andrew J.	Guidance	OBMS	12	\$ 6,183.50
Vyrostek, Michael R.	Guidance	OBMS	12	\$ 4,969.36
Yochum, Dana L.	Guidance	OBMS	12	\$ 7,315.72
Davis, Latoya D.	Guidance	OHMS	12	\$ 6,687.44
Roberts, Meghan B.	Guidance	OHMS	12	\$ 5,679.50
Durell, Jason D.	Guidance	OLMS	12	\$ 6,687.44
Washington, Holly L.	Guidance	OLMS	12	\$ 7,101.08
Davis, Jayme M.	Guidance	OOMS	12	\$ 6,519.44
D'Errico, Nick D.	Guidance	OOMS	12	\$ 6,635.22
Maxey, Elizabeth A.	Guidance	OOMS	12	\$ 5,303.94
Decaminada, Gina M.	Guidance	OSMS	12	\$ 6,855.44
Palmer, Christine E.	Guidance	OSMS	12	\$ 5,583.50
Walker, Christine R.	Guidance	ACES	6	\$ 2,023.04
Houtz, Emily E.	Guidance	AES	6	\$ 2,553.15
Burson, Megan M.	Guidance	CES	6	\$ 1,936.93
Fry, Cassandra S.	Guidance	FTES	6	\$ 2,416.22
Bickley, James H.	Guidance	GOES	6	\$ 3,686.08
Malone ,Krista M.	Guidance	HES	6	\$ 2,419.75
Fitzer, Jennifer H.	Guidance	ISES	6	\$ 2,347.75
Arie, Diana C.	Guidance	JCES	6	\$ 2,503.75
Byerly, Heather S.	Guidance	LTES	6	\$ 3,071.25
Hawk, Timothy J.	Guidance	OCES	6	\$ 2,073.86
Sipes, Kimberly J.	Guidance	OMES	6	\$ 3,550.54
Litzenberg, Kristi S.	Guidance	SMES	6	\$ 3,550.54
Otero, Edlyn R.	Guidance	SRES	6	\$ 2,931.50
Faber, Lisa M.	Guidance	TRES	6	\$ 3,657.86
Perry, Jaimie L.	Guidance	WCES	6	\$ 2,690.11
Gutierrez, Jamie M.	Guidance	WRES	6	\$ 2,827.04
Starcher, Robyn D.	Library/Media	OBHS	4	\$ 2,367.03
Harrison, Kaelin E.	Library/Media	OHS	4	\$ 1,702.10
Poindexter, Leeann M.	Library/Media	OLHS	4	\$ 1,825.86

Employee Name (Cont.)	Position/Area	Location	Contract Days	Salary
Nunn, Glenn A.	Library/Media	OOHS	4	\$ 1,245.64
Chan, Melissa B.	Library/Media	OBMS	4	\$ 2,117.15
Waltz, Elizabeth L.	Library/Media	OHMS	4	\$ 2,438.57
Starr, Sharon G.	Library/Media	OLMS	4	\$ 1,063.05
Silwani, Kelly R.	Library/Media	OOMS	4	\$ 1,907.74
Moffett, Pamela J.	Library/Media	OSMS	4	\$ 1,948.69
Nickolai, Morgan M.	Library/Media	ACES	6	\$ 2,755.75
Dangel, Betty A.	Library/Media	AES	6	\$ 2,963.97
Chisek, Amy F.	Library/Media	CES	6	\$ 2,758.57
Moore, Angela J.	Library/Media	FTES	6	\$ 3,151.04
Reinhard, Kathleen M.	Library/Media	GOES	6	\$ 2,522.11
Hemminger, Kara T.	Library/Media	HES	6	\$ 2,587.75
Jones, Christy B.	Library/Media	ISES	6	\$ 3,657.86
Acox, Nicole D.	Library/Media	JCES	6	\$ 3,550.54
Adelsberger, Bridget D.	Library/Media	LTES	6	\$ 3,007.75
Sattler, Michelle R.	Library/Media	OCES	6	\$ 3,291.50
Dennison, Julie M.	Library/Media	OMES	6	\$ 2,923.75
Derrow, Jami L.	Library/Media	SMES	6	\$ 2,005.39
Olson, Peggy A.	Library/Media	SRES	6	\$ 3,427.72
Savage, Heather M.	Library/Media	TRES	6	\$ 2,923.04
Laughbaum, Laura J.	Library/Media	WCES	6	\$ 2,651.97
Kleymeyer, Whitney D.	Library/Media	WRES	6	\$ 2,279.29

5. Approve the following certified unpaid leave of absence:

*Hall, Amanda C.*, Walnut Creek Elementary School, School Counselor (0.50 FTE), effective for the 2021-2022 school year

6. Accept, with regret, the following administrative resignations:

*Damceski, Anna A.*, Hyatts Middle School, Assistant Principal, effective at the end of the 2020-2021 school year

*Heitkamp, Lauren R.*, Olentangy Schools, Supervisor, Gifted, effective at the end of the 2020-2021 school year

7. Accept, with regret, for the purpose of retirement, the following certified resignation:

*Drake, Jean W.*, Liberty Tree Elementary School, Grade 4, effective June 30, 2021 *Zavarella*, *Leslie A.*, Committed Distance Learning, Heritage Elementary School, Music, effective at the end of the 2020-2021 school year

8. Accept, with regret, the following certified resignations:

**Dobney, Rachel M.**, Olentangy Schools, Coordinator, Gifted, effective at the end of the 2020-2021 school year

*Frindt*, *Allissa L.*, Indian Springs Elementary School, Intervention Specialist, effective at the end of the 2020-2021 school year

*Hilty, Cory D.*, Tyler Run Elementary School, Grade 5, effective at the end of the 2020-2021 school year

*Shoaf, Shane A.*, Orange Middle School, Grade 7, effective at the end of the 2020-2021 school year

*Vincenzo, Michelle Y.*, Committed Distance Learning, Berlin High School, Intervention Specialist, effective at the end of the 2020-2021 school year

*Wiedemann, Taylor N.*, Orange Middle School, Intervention Specialist, effective at the end of the 2020-2021 school year

9. Accept the following supplemental resignations:

*Lewis Sr., Stephen M.*, Orange High School, Diversity Liaison, All Year, Full Contract *Martini, Jamie R.*, Glen Oak Elementary School, Building Leadership Team, All Year, Onehalf Contract

Stevens, Kristopher C., Glen Oak Elementary School, Building Leadership Team, All year, One-half Contract

- 10. Approve administrative employment for the 2021-2022 school year, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other necessary documentation:
  - *Shoaf, Shane A.*, Orange Middle School, Assistant Principal, effective August 1, 2021 *Jefferson, Malika R.*, Olentangy Schools, Assistant Director, Secondary Pupil Services, effective August 1, 2021
- 11. Approve certified employment for the 2021-2022 school year, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other necessary documentation

Employee Name	Position	Location	Eff. Date	Term	Salary
Barstow, Jennifer L.	Intervention Specialist, OG	OOMS	08/16/21	1-Year	\$ 63,944.00
Conklin, Chelsea L.	Elementary Physical Education	OLSD	08/16/21	1-Year	\$ 68,841.00
Cromwell, Brian T.	Elementary Physical Education	OLSD	08/16/21	1-Year	\$ 70,278.00
Deskins, Holly N.	Grade 6	OBMS	08/16/21	1-Year	\$ 43,529.00
Grilliot, Olivia J.	Intervention Specialist	OLMS	08/16/21	1-Year	\$ 43,529.00
Ha, Helen	Grade 6	OBMS	08/16/21	1-Year	\$ 73,150.00
Henry, Brooke A.	Elementary Art	OLSD	08/16/21	1-Year	\$ 43,529.00
Hottle, Bret K.	Grade 5	GOES	08/16/21	1-Year	\$ 50,807.00
Johnson, Lindsay J.	Kindergarten	GOES/			
		OCES	08/16/21	1-Year	\$ 70,278.00
Jordan, Kristina M.	Grade 3	GOES	08/16/21	1-Year	\$ 63,944.00
King, Madison D.	Grade 2	OMES	08/16/21	1-Year	\$ 45,349.00
Kirk, Jessie E.	Grade 2	LTES	08/16/21	1-Year	\$ 52,740.00
Marinucci, Sophia R.	Grade 1	TRES	08/16/21	1-Year	\$ 52,257.00
McReynolds, Anna E.	Drama/Theatre (0.50 FTE)	OHS	08/16/21	1-Year	\$ 21,764.50
Reed, Jessica M.	Grade 3	WCES	08/16/21	1-Year	\$ 59,069.00
Wibbeler, Thomas L.	Intervention Specialist	OBHS	08/16/21	1-Year	\$ 47,138.00

12. Approve certified New Teacher Academy stipend (\$150 maximum) for each new staff member, paid through memorandum billing for the 2021-22 school year:

Barstow, Jennifer L.	Grilliot, Oliva J.	Johnson, Lindsay J.	Marinucci, Sophia R.
Conklin, Chelsea L.	Ha, Hellen	Jordan, Kristina M.	McReynolds, Anna E.
Cromwell, Brian T.	Henry, Brooke A.	King, Madison D.	Reed, Jessica M.
Deskins, Holly N.	Hottle, Bret K.	Kirk, Jessie E.	Wibbeler, Thomas L.

- 13. Approve certified Wednesday/Saturday School Instructors at \$50 per occurrence paid through memorandum billing for the 2020-2021 school year: *Nippert, Sara E.*, Berkshire Middle School, All Year, Instructor
- 14. Approve certified positions paid through memorandum billing:

Employee Name	Position/Location	Total Days/	Salary	
		Hours/Sessions	Per Hour	Total
Before-and/or After-School	Tutoring			
Ashworth, Jaime A.	Instructor OLHS	25.00 Hr.	\$ 25.00	\$ 625.00
Granata, Rebecca I.	Instructor OLHS	20.00 Hr.	\$ 25.00	\$ 500.00
Koke, Kelsey L.	Instructor OLHS	18.00 Hr.	\$ 25.00	\$ 450.00
Lewis, Victoria K.	Instructor OLHS	17.00 Hr.	\$ 25.00	\$ 425.00
Norris, Jane S.	Instructor OLHS	15.00 Hr.	\$ 25.00	\$ 375.00
Shivley, Kaitlin M.	Instructor OLHS	17.00 Hr.	\$ 25.00	\$ 425.00
Tremmel, Angela E.	Instructor OLHS	12.00 Hr.	\$ 25.00	\$ 300.00
Conference Attendance and	Curriculum Development (Human	n Capital Grant)		
Weakley, Sunday M.	Instructor OLHS	15.00 Hr.	\$ 25.00	\$ 375.00
Extended School Year (ESY	7) Services			
Abramowitz, Lindsay E.	Instructor OSMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Adair, Elizabeth J.	Instructor CDLES-OCES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Barnes, Carly M.	Instructor OBMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Beasley, Lindsay H.	Instructor GOES	200.00 Hr.	\$ 35.00	\$ 7,000.00

Employee Name (Cont.	Position/Location	Total Days/	Salary	
		Hours/Sessions	Per Hour	Total
Borders, Bobbi J.	Instructor CDLHS-OOHS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Brady, Libby P.	Instructor OSMS	200.00 Hr.	\$ 45.00	\$ 9,000.00
Burchfield, Amanda N.	Instructor WCES	200.00 Hr.	\$ 45.00	\$ 9,000.00
Castiglione, Donna M.	Instructor OOMS	200.00 Hr.	\$ 45.00	\$ 9,000.00
Clowes, Lauren N.	Instructor OLMS	200.00 Hr.	\$ 35.00	\$ 7,000.00
Cooper, Benjamin D.	Instructor CDLMS-OLMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Couillard, Talesha S.	Instructor OSMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Cunningham, Maryann R.	Instructor JCES	200.00 Hr.	\$ 35.00	\$ 7,000.00
Dariano, Lauren A.	Instructor ACES	200.00 Hr.	\$ 60.00	\$ 12,000.00
Evans, Stephanie R.	Instructor OOMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Feller, Debra A.	Instructor CDLES-SRES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Foster, Meaghan M. Fratianne, Laura K.	Instructor CDLES-OCES Instructor TRES	200.00 Hr. 200.00 Hr.	\$ 25.00 \$ 45.00	\$ 5,000.00
Gambill, Denise A.	Instructor OHS	200.00 Hr. 200.00 Hr.	\$ 25.00	\$ 9,000.00 \$ 5,000.00
Hall, Rebecca E.	Instructor OSMS	200.00 Hr.	\$ 60.00	\$ 12,000.00
Harden, Dana A.	Instructor TRES	200.00 Hr.	\$ 45.00	\$ 9,000.00
Harrington, Jill R.	Instructor ACES	200.00 Hr.	\$ 45.00	\$ 9,000.00
Hehmeyer, Leslie L.	Instructor CES	200.00 Hr.	\$ 45.00	\$ 9,000.00
Hughes, Melissa A.	Instructor OLHS	200.00 Hr.	\$ 45.00	\$ 9,000.00
Jacoby, Laura B.	Instructor CDLMS-OOMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Kirk, Ezra P.	Instructor OHS	200.00 Hr.	\$ 45.00	\$ 9,000.00
Knapp, Theresa R.	Instructor CDLES-ISES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Lillich, Mollie C.	Instructor LTES	50.00 Hr.	\$ 25.00	\$ 1,250.00
Malhoit, Kristen D.	Instructor OCES	200.00 Hr.	\$ 35.00	\$ 7,000.00
Maloney, Kathleen E.	Instructor JCES	200.00 Hr.	\$ 25.00	\$ 5,000.00
McMahon, Lauren K.	Instructor WRES	200.00 Hr.	\$ 35.00	\$ 7,000.00
Morris, Stephen R.	Instructor CDLMS-OOMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Muntean, Nicole V.	Instructor OHMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Nagy, Keely L.	Instructor HES	200.00 Hr.	\$ 35.00	\$ 7,000.00
Oren, Jacqueline Y.	Instructor AES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Peters, Michele R.	Instructor ISES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Phillips, Megan E.	Instructor OBHS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Pircio, Erika J.	Instructor SRES	200.00 Hr.	\$ 45.00	\$ 9,000.00
Reep, Shannon J.	Instructor CDLMS-OHMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Romer, Catherine A.	Instructor OSMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Ross, Jessica L.	Instructor AES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Russell, Jenna G.	Instructor CDLES-OMES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Scheetz, Jennifer V.	Instructor OBMS	200.00 Hr.	\$ 45.00	\$ 9,000.00
Smith, Emily C.	Instructor CDLES-JCES Instructor CDLES-OCES	200.00 Hr. 200.00 Hr.	\$ 35.00	\$ 7,000.00
Staarmann, Margaret J. Stanley, Susan L.	Instructor SRES	200.00 Hr. 200.00 Hr.	\$ 25.00 \$ 25.00	\$ 5,000.00 \$ 5,000.00
Tilden, Jaclyn A.	Instructor OCES	200.00 Hr. 200.00 Hr.	\$ 25.00	\$ 5,000.00
Garden Based Learning (OPD)		200.00 111.	\$ 23.00	\$ 5,000.00
Walters, Cynthia E.	Instructor OSMS	1.00 session		\$ 800.00
Home Instruction	instructor OSIVIS	1.00 30331011		Ψ 000.00
Borders, Bobbi J.	Instructor CDLMS-OOHS	25.00 Hr.	\$ 25.00	\$ 625.00
Kindergarten Screening (\$125)		20.00 111.	Ψ 20.00	Ψ 022.00
Mason, Karen E.	ELL OSMS	1.00 Day		\$ 125.00
Veon, Lisa M.	ELL CDLES-GOES	1.00 Day		\$ 125.00
Medeiros, Carlene D.	School Nurse OLHS	1.00 Day		\$ 125.00
Summer ELL Tutoring Progra	m	•		
Borders, Bobbi J.	Instructor CDLMS-OOHS	128.00 Hr.	\$ 25.00	\$ 3,200.00
Garrett, Rachel M.	Instructor ACES	128.00 Hr.	\$ 25.00	\$ 3,200.00
Lewis, Jillian L.	Instructor AES	128.00 Hr.	\$ 25.00	\$ 3,200.00
McAllister, Diane L.	Instructor HES	128.00 Hr.	\$ 25.00	\$ 3,200.00
Miller, Amy M.	Instructor OLHS	128.00 Hr.	\$ 25.00	\$ 3,200.00
Pledger, Jessica M.	Instructor SRES	200.00 Hr.	\$ 25.00	\$ 5,000.00
Veon, Lisa M.	Instructor CDLES-GOES	128.00 Hr.	\$ 25.00	\$ 3,200.00
Summer Intervention Academy	,			
Wortman, Clayton J.	Instructor WCES	1.00 Session		\$ 1,200.00
Summer OST Test Administra		10.50 **	A 22 22	ф 225 <u>-</u> 2
Christopher, Jamie M.	Instructor OHS	13.50 Hr.	\$ 25.00	\$ 337.50
Smith, Kelsey A.	Instructor OA	15.00 Hr.	\$ 25.00	\$ 375.00
Summer School Academy 2021		1.00 €		¢ 2 662 00
Nossaman, Greg C.	Health Instructor OLHS	1.00 Session		\$ 2,662.00
Summer Third Grade Reading Sigley, Kelliea S.	Instructor CDLES-HES	1.00 Session		\$ 2,400.00
Sigicy, ixellica 5.	monucion CDLL9-11L3	1.00 5031011		Ψ 4,πυυ.υυ

Employee Name (Cont.	Position/Location	Total Days/	Salary			
		Hours/Sessions	Per Hour	Total		
<b>Teacher Professional Development</b>	ent Creation - Title II 2022 (July 15,	2021 and Augus	t 15, 2021)			
Doak, Amy M.	Instructor CES	12.00 Hr.	\$ 25.00	\$ 300.00		
Ducat, Kristy L.	Instructor CES	12.00 Hr.	\$ 25.00	\$ 300.00		
Garrett, Rachel M.	Instructor ACES	12.00 Hr.	\$ 25.00	\$ 300.00		
Gladieux, Shannon L.	Instructor ACES	12.00 Hr.	\$ 25.00	\$ 300.00		
Greisberger, Lauren L.	Instructor ACES	12.00 Hr.	\$ 25.00	\$ 300.00		
Mickens, Shannon M.	Instructor CDLES-ACES	12.00 Hr.	\$ 25.00	\$ 300.00		
Morris, Melissa R.	Instructor CDLES-HES	12.00 Hr.	\$ 25.00	\$ 300.00		
Rohrer, Kathryn E.	Instructor CES	12.00 Hr.	\$ 25.00	\$ 300.00		
Sievert, Wagner Amy L.	Instructor WRES	6.00 Hr.	\$ 25.00	\$ 150.00		
Stevens, Kristopher C.	Instructor GOES	12.00 Hr.	\$ 25.00	\$ 300.00		
Wolfer, Heidi A.	Instructor WRES	6.00 Hr.	\$ 25.00	\$ 150.00		
<b>Teacher Professional Development</b>	Teacher Professional Development Creation – Title III 2022					
Agranoff, Cheryl L.	Instructor FTES	12.00 Hr.	\$ 25.00	\$ 300.00		
Sharrock, Andrea M.	Instructor CDLES-AES	15.00 Hr.	\$ 25.00	\$ 375.00		

- 15. Approve supplemental contract employment for the 2020-21 school year specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other documentation. Employment also is specifically conditioned on and subject to the activity/season occurring, with proration in the event of partial performance as determined by the administration and the supplemental committee.
  - **Sribanditmongkol, Verathai,** Berlin High School, Assistant Director, Drama, Winter Season, Full Contract, Group 7, Step 8 at \$3,822 total
- 16. Approve supplemental contract employment for the 2021-22 school year specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other documentation. Employment also is specifically conditioned on and subject to the activity/season occurring, with proration in the event of partial performance as determined by the administration and the supplemental committee.

1 1					
Supplemental Area	Coach / Advisor	Group	Step	Amount	Season
<b>Building Department Chairs</b>					
Foreign Language Department Chair OLHS	Fejko, Stephanie A.	1/2 of 7	8	\$ 1,959.0	00 All Year
Guidance Counselor Department Chair OLHS	Sisko, Bobbie M.	7	8	\$ 3,918.0	00 All Year
Language Arts Department Chair OLHS	Rust, Hannah C.	1/2 of 7	2	\$ 1,306.0	00 All Year
Mathematics Department Chair OLHS	Hale, David G.	7	8	\$ 3,918.0	00 All Year
Science Department Chair OLHS	Johnson, Erin M.	7	7	\$ 3,700.0	00 All Year
Social Studies Department Chair OLHS	Crandall, Linda S.	7	6	\$ 3,482.0	00 All Year
Special Education Department Chair OLHS	Kriss, Emily L.	7	9	\$ 4,135.0	00 All Year
Technology Department Chair OLHS	Hale, David G.	1/2 of 7	8	\$ 1,959.0	00 All Year
Technology Department Chair OLHS	Poindexter, Leeann M.	1/2 of 7	6	\$ 1,741.0	00 All Year
Visual Arts/Industrial Technology					
Department Chair OLHS	Heckelman, Nadene L.	7	8	\$ 3,918.0	00 All Year
Language Arts Department Chair OBMS	Baker, Katelyn M.	7	6	\$ 3,482.0	00 All Year
Mathematics Department Chair OBMS	Little, Tyler D.	7	4	\$ 3,047.0	00 All Year
Science Department Chair OBMS	Callif, Holly M.	7	8	\$ 3,918.0	00 All Year
Social Studies Department Chair OBMS	Emrich, Justin D.	7	7	\$ 3,700.0	00 All Year
Special Education Department Chair OBMS	Mellen, Justin M.	1/2 of 7	1	\$ 1,197.0	00 All Year
Special Education Department Chair OBMS	Palmer, Beth A.	1/2 of 7	10	\$ 2,176.5	50 All Year
Technology Department Chair OBMS	Craig, Christopher M.	1/2 of 7	1	\$ 1,197.0	00 All Year
Technology Department Chair OBMS	Morelli, Christopher A.	1/2 of 7	1	\$ 1,197.0	00 All Year
Building Leadership Team					
Building Leadership Team FTES	Defenbaugh, Christine G.	7	0	\$ 2,176.0	00 All Year
Building Leadership Team WCES	Barnes, Megan A.	7	5	\$ 3,265.0	00 All Year
Building Leadership Team WCES	Daniel, Brandy D.	7	1	\$ 2,394.0	00 All Year
Building Leadership Team WCES	McKenna, Diane M.	7	1	\$ 2,394.0	00 All Year
Building Leadership Team WCES	Phillips, Alison N.	7	0	\$ 2,176.0	00 All Year
Building Leadership Team WCES	Turner, Leslie J.	7	2	\$ 2,612.0	00 All Year

Supplemental Area (Cont.)	Coach / Advisor	Group	Step	Amount Season
Instructional Technology Department	T 11 T T	7	0	¢ 2 010 00 A11 W
Chair WCES  District Department Chair	Laughbaum, Laura J.	7	8	\$ 3,918.00 All Year
Nurse District Department Chair DIST	Haney, Kara E.	7	2	\$ 2,612.00 All Year
Diversity Liaison	••			
Diversity Liaison WCES	EauClaire, Kelly L.	7	4	\$ 3,047.00 All Year
Diversity Lieison OBMS	Rock, Andrew J.	7 7	0	\$ 2,176.00 All Year
Diversity Liaison OLHS Diversity Liaison OOHS	Heckman, Nance E. Nunn, Glenn A.	7	6 0	\$ 3,482.00 All Year \$ 2,176.00 All Year
Cheerleading	rumi, Giemi 71.	,	O	ψ 2,170.00 7 Hi T Cui
8th Grade Cheerleading Coach OBMS	Henkle, Emma J.	7	4	\$ 3,047.00 Fall
7th Grade Cheerleading Coach OBMS	Cox, Andrea N.	7	3	\$ 2,829.00 Fall
Cross Country	C 11 7 1 P	4	0	ф 5 222 00 F 11
Boys Asst Cross Country Coach OOHS Faculty Manager	Grubb, Zachary R.	4	8	\$ 5,223.00 Fall
Faculty Manager OBMS	Pauff, Franklin P.	6	9	\$ 4,571.00 Fall
Football	1 4411, 1 141111111 1 1	Ü		ψ 1,671100 Tuli
Head Football Coach OBHS	Nori, Mark A.	1	13	\$ 9,359.00 Fall
Asst Football Coach OBHS	Arend, Jeremy J.	3	20	\$ 6,529.00 Fall
Asst Football Coach OBHS	Komenda, Bradley J.	3/4 of 3	12	\$ 4,896.75 Fall
Asst Football Coach OBHS Asst Football Coach OBHS	Maynard, William D. McVay, Nicholas S.	1/4 of 3 3	3 8	\$ 1,251.50 Fall \$ 6,094.00 Fall
Asst Football Coach OBHS	Rose, Mark S.	3	9	\$ 6,312.00 Fall
Asst Football Coach OBHS	Schrock, Brendon T.	3	6	\$ 5,659.00 Fall
Asst Football Coach OBHS	Smith, Randall V.	1/2 of 3	2	\$ 2,394.00 Fall
Asst Football Coach OBHS	Williamson, William E.	3	11	\$ 6,529.00 Fall
Asst Football Coach OHS	Kelley, Jordan S.	3	3	\$ 5,006.00 Fall
Head Football Coach OOHS Asst Football Coach OOHS	Schroeder, Stephen Z. Baker, Todd W.	1 1/4 of 3	17 24	\$ 9,359.00 Fall \$ 1,632.25 Fall
Asst Football Coach OOHS	Berndt, Matthew A.	3	15	\$ 6,529.00 Fall
Asst Football Coach OOHS	Daugherty, Patrick D.	1/2 of 3	5	\$ 2,720.50 Fall
Asst Football Coach OOHS	Davies, John T.	1/4 of 3	2	\$ 1,197.00 Fall
Asst Football Coach OOHS	Lattig, Matthew W.	1/2 of 3	7	\$ 2,938.00 Fall
Asst Football Coach OOHS	Murphy, Spencer M.	1/2 of 3	7	\$ 2,938.00 Fall
Asst Football Coach OOHS Asst Football Coach OOHS	Pierce, Tyler J. Ramey, Brent A.	3/4 of 3 1/2 of 3	10 7	\$ 4,896.75 Fall \$ 2,938.00 Fall
Asst Football Coach OOHS	Roth, Robert L.	3	17	\$ 6,529.00 Fall
Asst Football Coach OOHS	Sansbury, Christopher M.	3	10	\$ 6,529.00 Fall
Asst Football Coach OOHS	Tierney, Jesse L.	3	8	\$ 6,094.00 Fall
Asst Football Coach OOHS	Tressel, Mark D.	3/4 of 3	13	\$ 4,896.75 Fall
8th Grade Asst Football Coach OBMS	Little, Tyler D.	7	9	\$ 4,135.00 Fall
Golf Boys Head Golf Coach OLHS	Snivley, Ryan R.	4	17	\$ 5,659.00 Fall
Boys Asst Golf Coach OLHS	Nossaman, Gregory C.	5	10	\$ 5,039.00 Fall
Boys Asst Golf Coach OLHS	Scherner, Jonathan D.	5	6	\$ 4,353.00 Fall
Boys Asst Golf Coach OOHS	Callaghan, Phillip D.	5	13	\$ 5,223.00 Fall
Boys Asst Golf Coach OOHS	Findley, Kyle R.	5	5	\$ 4,135.00 Fall
Girls Head Golf Coach OOHS	Helline, Todd J.	4	21	\$ 5,659.00 Fall
Girls Asst Golf Coach OOHS MS Golf Coach OBMS	Cahill, Karen L. Morelli, Christopher A.	5 6	9 2	\$ 5,006.00 Fall \$ 3,047.00 Fall
Soccer	Worchi, Christopher A.	U	2	φ 5,047.00 1 an
Girls Asst Soccer Coach OBHS	Link, Margaret S.	4	1	\$ 3,700.00 Fall
Sports Statistician				
Sports Statistician OBHS	McKibben, Benjamin S.	11	3	\$ 566.00 Fall
Tennis	C4 C I	4	16	¢ 5 650 00 E-11
Girls Head Tennis Coach OOHS Girls Asst Tennis Coach OOHS	Storrer, Susan L. Savinell, James K.	4 5	16 15	\$ 5,659.00 Fall \$ 5,223.00 Fall
Volleyball	Savinen, James IX.	3	13	φ 5,225.00 T an
Girls Head Volleyball Coach OBHS	Stearns, Dana J.	2	8	\$ 6,965.00 Fall
Girls Asst Volleyball Coach OBHS	Daugherty, Kristy L.	4	4	\$ 4,353.00 Fall
Girls Asst Volleyball Coach OBHS	Mimna, Michelle L.	4	19	\$ 5,659.00 Fall
Girls Head Volleyball Coach OLHS	Chapman, Jennifer L.	2	19	\$ 7,400.00 Fall
Girls 7th Grade Volleyball Coach OBMS	Timmons, Jessica P.	6	17	\$ 4,788.00 Fall
Basketball Girls Asst Basketball Coach OBHS	Adams, Jason N.	3	6	\$ 5,659.00 Winter
Weight Training		-	~	\$ 5,555.00 miles
Weight Training Coordinator OLHS	Mohr, Drew K.	5	13	\$ 5,223.00 Summer

17. Approve pupil activity supervisor supplemental contract employment for the 2021-22 school year specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other documentation. Employment also is specifically conditioned on and subject to the activity/season occurring, with proration in the event of partial performance as determined by the administration and the supplemental committee.

administration and the suppl	emental commit	tee.			
Supplemental Area	Coach / Advisor	Group	Step	Amount	Season
Performing Arts Volunteer		-	•		
Performing Arts Volunteer-Chaperone OOHS	Gerhard, James F.	N/A	N/A	-\$	All Year
Performing Arts Volunteer-Chaperone OOHS	Weber, Benjamin F.	N/A	N/A	-\$	All Year
Performing Arts Volunteer-Chaperone OOHS	Weber ,Susan D.	N/A	N/A	-\$	All Year
Cheerleading					
Asst Cheerleader Coach OBHS	Barnhart, Hallie A.	6	1	\$ 2,829.00	Fall
Asst Cheerleader Coach OBHS	Griffith, Rebekah F.	6	8	\$ 4,353.00	Fall
Cross Country					
Head Cross Country Coach OBMS	Hudson, Michelle M.	6	5	\$ 3,700.00	Fall
Asst Cross Country Coach OBMS	Oboyle, Lauren B.	7	0	\$ 2,176.00	Fall
Asst Cross Country Coach Volunteer OBMS	Burns, Michael A.	N/A	N/A	-\$	Fall
Field Hockey					
Girls Head Field Hockey Coach OBHS	Martin, Allison M.	2	3	\$ 5,876.00	Fall
Girls Head Field Hockey Coach OLHS	Siehl, Gregory L.	2 1	2	\$ 7,400.00	Fall
Football	, , , , , , , , , , , , , , , , , , , ,			, .,	
Asst Football Coach OBHS	Madison, Delano C.	1/2 of 3	1	\$ 2,285.50	Fall
Asst Football Coach OOHS	Malivuk, Justin W.	3/4 of 3	11	\$ 4,896.75	Fall
Asst Football Coach OOHS	Wittig, Collin C.	1/4 of 3	1	\$ 1,142.75	Fall
8th Grade Head Football Coach OBMS	Ziegler, Jason T.	6	3	\$ 3,265.00	Fall
7th Grade Head Football Coach OBMS	Zingery, Matthew M.	6	0	\$ 2,612.00	Fall
Soccer	8. 3,			, ,-	
Boys Asst Soccer Coach Volunteer OBHS	Kannally ,Brody	N/A	N/A	-\$	Fall
Boys Asst Soccer Coach OLHS	Henesy, Jonathan A.	4	1	\$ 3,700.00	Fall
Girls Asst Soccer Coach OLHS	Blue, Lindsey	4	7	\$ 5,006.00	Fall
Girls Asst Soccer Coach OLHS	Johnston, Eric	4	0	\$ 3,482.00	Fall
Boys Head Soccer Coach OOHS	Weiss, Brett A.	2	10	\$ 7,400.00	Fall
Boys Asst Soccer Coach OOHS	Kolp, Peter W.	4	7	\$ 5,006.00	Fall
Boys Asst Soccer Coach OOHS	Weinlein, Benjamin H.	4	1	\$ 3,700.00	Fall
Girls Head Soccer Coach OOHS	Lawrence ,Timothy A.		27	\$ 7,400.00	Fall
Girls Asst Soccer Coach OOHS	Goebel, Steven J.	4	27	\$ 5,659.00	Fall
Girls Asst Soccer Coach OOHS	Sieradzki, Allie M.	4	5	\$ 4,571.00	Fall
Girls Asst Soccer Coach OOHS	Vaughan, Samantha J.		2	\$ 3,918.00	Fall
Girls Asst Soccer Coach Volunteer OOHS	Salmon, Matthew J.	N/A	N/A	-\$	Fall
Volleyball	Sumon, municipal vi	1,111	1,1,1	Ψ	1 411
Girls Asst Volleyball Coach OBHS	Carter, Erika	4	2	\$ 3,918.00	Fall
Girls Asst Volleyball Coach OLHS	Fogg, Katherine L.	4	18	\$ 5,659.00	Fall
Girls Asst Volleyball Coach OLHS	Miracle, Adam	4	5	\$ 4,571.00	Fall
Girls Asst Volleyball Coach OLHS	Rohda, Deryll L.	4	26	\$ 5,659.00	Fall
Girls 8th Grade Volleyball Coach OBMS	Marker-Verdin,	•	20	φ 2,023.00	1 411
Giris our Grade Volleybair Coach Obivis	Lynn M.	6	8\$	4,353.00	Fall
Basketball	Ly1111 141.	J	σψ	7,333.00	1 1111
Girls Head Basketball Coach OBHS	Cunningham,Brock A.	1	20	\$ 9,359.00	Winter
Cross Country	Cummignam, Diock A.	•	20	Ψ 2,332.00	** 111101
Girls Cross Country Camp Chaperone OHS	Madsen, Julie	N/A	N/A	-\$	Summer
on a cross country camp chaperone on a	masch, June	1 1/ 1/1	1 1/ 1/1	-ψ	Summer

### B. Specific Human Resource Items – Classified Staff

1. Accept, with regret, for the purpose of retirement, the following classified resignation(s):

*Monahan, Diana L.*, Cheshire Elementary School, Food Service Worker, effective May 27, 2021

2. Accept, with regret, the following classified resignation(s):

*Barstow, Debra A.*, Oak Creek Elementary, Intervention Aide, effective May 27, 2021 *Campbell, Natalie M.*, Freedom Trail Elementary School, Clinic Aide, effective July 24, 2021

*Cochran, Jennie R.*, Freedom Trail Elementary School, Playground/Cafeteria Aide, effective at the end of the 2020-21 school year

Gunawan, Djulita, Olentangy High School, Food Service Worker, effective May 27, 2021

3. Accept, with regret, for the purpose of retirement, the following classified resignation(s) for the 2021-22 school year:

*Bowser, Kathleen S.*, Treasurer, Executive Secretary, effective July 31, 2021 *Carpenter, Alan N.*, Berkshire Middle School, Custodian, effective September 30, 2021

- 4. Approve re-employment for the 2021-22 school year: *Lucas, Brenda K.*, Liberty High School, Intervention Aide
- 5. Approve classified transfer(s):

Campbell, Nancy A., Hyatts Middle School, Study Hall Monitor/Intervention Aide to Hyatts Middle School, Intervention Aide, effective August 18, 2021 Givens, Michelle L., Shanahan Middle School, Food Service Worker to Shanahan Middle School, Food Service Manager, effective August 9, 2021 Heis, Jennifer L., Oak Creek Elementary School, Food Service Worker to Heritage Elementary School, Food Service Manager, effective August 9, 2021 Riley, Tammy L., Treasurer, Treasurer Supervisor to Treasurer, Treasurer Secretary, effective August 1, 2021

6. Approve classified employment for the 2021-22 school year, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other necessary documentation:

Anthony, Barbara A., Hyatts Middle School, Food Service Worker Bowman, Whitney R., Scioto Ridge Elementary School, Food Service Worker Burns, Brittany A., Heritage Elementary School, Food Service Worker Cooper-Jermann, Michelle S., Shale Meadows Elementary School, Food Service Worker Evans, Michelle C., Orange Middle School, Food Service Worker Guiver, Shelly L., Cheshire Elementary School, Food Service Worker Heilshorn, Shelley V., Indian Springs Elementary School, Building Secretary Hunt, Mikayla J., Oak Creek Elementary School, Intervention Aide Madiraju, Leela, Arrowhead Elementary School, Playground/Cafeteria Aide Mallipeddi, Aparna, Liberty Tree Elementary School, Food Service Worker Parker, Janell F., Shale Meadows Elementary School, Food Service Worker Rapp, Taryn M., Tyler Run Elementary School, Playground Aide Sutton, Sarah E., Olentangy High School, Food Service Worker Waterwash, Ronald G., Liberty High School, Study Hall Monitor Aide

8. Approve classified positions paid through memorandum billing

1 1				
Employee Name	Position/Location	 Total Days/	Salary	
		Hours/Sessions	Per Hour	Total
<b>Extended School Year (ES</b>	Y) Services			
Bell Elizabeth K. Aide, Inter	vention OOHS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Buck Sandra A. Aide, Interv	rention OLMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Johnson Joshua L. Aide, Inte	ervention OOMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Kaufman Jeanine L. Aide, In	ntervention OLMS	200.00 Hr.	\$ 25.00	\$ 5,000.00
Kigar Fritz S. Aide, Interver	tion CDLHS-OLHS	25.00 Hr.	\$ 25.00	\$ 625.00
Home Instruction				
Billy Melissa J. Aide, Interv	ention WCES	15.00 Hr.	\$ 25.00	\$ 375.00

Employee Name (Cont.)	Position/Location	Total Days/	Salary
		Hours/Sessions	Per Hour Total
Kindergarten Screening (\$125	5 per Day)		
Cook Christine R. Aide, Clinic	OOMS	4.00 Days	\$ 500.00
Pinkerton Tracey A. Aide, Clin	ic OBMS	2.00 Days	\$ 250.00
<b>Summer Intervention Academ</b>	ny 2021 (SIA '21)	-	
Cook Christine R. Aide, Clinic	OOMS	2.00 Sessions	\$ 1,200.00
Martin Cynthia A. Aide, Interve	ention OCES	2.00 Sessions	\$ 1,200.00

- 9. Approve classified substitute workers for the 2021-22 school year, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other documentation:

  (See Exhibit B-10 attached to minutes)
- C. Approve senior(s) for graduation, pending certification of completion of all district, state, and local requirements

  Liberty High School: Dorsey, Mason James

D. Approve student overnight and out-of-town trips

ν.	TIPPIC	J T C BLG	COLL	COVE	ight and out of town trips			
School	Beginning	Return	Days	No. of	Category/Event	Location	Transportation	# of
	Date	Date	Missed	Volunteers			-	Students
OBHS	6/6/2021	6/8/2021	0	1	Boys Basketball - Brian Lane Basketball Camp	Lexington, KY	Parents	15
OHS	6/10/2021	6/12/2021	0	0	Girls Basketball - Team Camp	Cedarville University	Parents	25
OSMS	6/10/2021	6/12/2021	0	0	Boys Basketball-Eastern Ohio Basketball Camp	Sherrodsville, OH	Parents/Charter Bus	30
OOHS	6/11/2021	6/12/2021	0	2	Boys Basketball - Malone University	Canton, OH	Parents	25
OHS	6/13/2021	6/15/2021	0	0	Boys Basketball-Eastern Ohio Basketball Camp	Sherrodsville, OH	Parents/Charter Bus	30
OBHS	6/13/2021	6/17/2021	0	0	Jeff Jordan's State Champ Camp - Wrestling	Paris, OH	Parents	15-20
OHS	6/14/2021	6/15/2021	0	0	Girls Basketball-Team Camp	Sandusky, OH	Parents	25
OLHS	6/16/2021	6/18/2021	0	0	Boys Basketball - EOBC	Sherrodsville, OH	Parents	30
OBHS	6/23/2021	6/25/2021	0	0	Girls Basketball - Eastern Ohio Team Camp	Sherrodsville, OH	Parents	14
OHS	6/25/2021	6/27/2021	0	0	Indiana Wesleyan Team Camp - Boys Basketball	Marion, IN	Parents/Charter Bus	30
OSMS/	OLMS							
	6/27/2021	6/29/2021	0	2	(HS Girls) Girls Basketball-Team Camp	Sherrodsville, OH	Parents	30
OLHS	7/6/2021	7/9/2021	0	0	Cheerleading - UCA Summer Camp	Bowling Green, OH	Parents/School Bus	30-40
OSMS	7/9/2021	7/11/2021	0	0	Indiana Wesleyan Team Camp - Boys Basketball	Marion, IN	Parents/Charter Bus	30
OLHS	7/11/2021	7/13/2021	0	0	Field Hockey - Miami University Field Hockey Camp	Oxford, OH	Parents/Charter Bus	18-21
OHS	7/13/2021	7/15/2021	0	1	Football Team Camp	Ashland, OH	Charter Bus	80-95
OOHS	7/26/2021	7/28/2021	0	0	Football Team Camp	Ashland, OH	School Bus 8	0
OOHS	8/1/2021	8/4/2021	0	0	Cheerleading - UCA Summer Camp	Oxford, OH	Parents	50
OLHS	8/6/2021	8/8/2021	0	3	Girls Cross Country Team Camp	Hillsboro, OH	Parents	80
OLHS	8/8/2021	8/12/2021	0	0	Boys Cross Country Team Camp of Champs	Marengo, OH	School Bus	70
OLHS	9/17/2021	9/19/2021	0	0	Boys Cross Country Camp Nuhop	Loudonville, OH	School Bus 7	0
OLHS	9/18/2021	9/20/2021	1	0	Boys Varsity Golf - Findlay Invite and Kiely Cup	Findlay, OH	School Vans	5
OLHS	10/23/2021	10/24/2021	0	3	Varsity Chorale & Choraliers - Fall Tour	Cincinnati, OH	Charter Bus	80
OLHS	11/12/2021	11/13/2021	0	1	Acapop Groups - Kettering National Acafest	Kettering, OH	School Bus	25
OOHS	11/26/2021	11/30/2021	1 2	10	OOHS Marching Band-Hollywood Christmas Parade	Los Angeles, CA	Charter Bus/Air	220
OLHS	12/28/2021	1/4/2022	2	10	New Year's Day Parade - Band	London, England	Charter Bus/Air	110
OBMS	3/7/2022	3/10/2022	4	0	8th Grade DC Trip	Washington, DC	Charter Bus	350
OOHS	4/1/2022	4/5/2022	2	15	OOHS Choir - CODA Concerts Choir Festival			
					& Competition	Washington, DC	Charter Bus	40-60
OLHS	4/8/2022	4/11/2022	2	8	Varsity Chorale & Choraliers - Annual			
					NYC Performance Tour	New York, New York	Charter Bus	80
OOHS	6/6/2022	6/15/2022	0	2	OOHS in Peru - Travel Club	Peru	Parent/Air	12-24

- E. <u>Approve renewal from MIND Research Institute for elementary ST Math</u> licenses in the amount of \$70,805.20
- F. Approve three-year license renewal from Newsela in the amount of \$451,050
- G. Approve three-year license renewal from McGraw Hill for ALEKS in the amount of \$192,225
- H. Approve GMP #2 Amendment with Robertson Construction Services, Inc. for CMR Services for the Middle School #6 Project in the amount of \$34,082,507.71 for a total construction cost of \$40,155,283.67

- I. Approve Easement and Right of Way agreement with American Electric Power on district owned property at Middle School #6 in the amount of \$1.00
- J. <u>Approve professional services agreement with The Ohio State University</u>

  Wexner Medical Center for student mental health services from July 1, 2021

  through June 30, 2023

Vote: M. Patrick, yes; Dr. L. Wyse, yes; D. King, yes; K. O'Brien, yes; J. Wagner Feasel, yes. Motion carried.

Executive Dr. L. Wyse moved, D. King seconded to enter into executive session at 9:28 p.m. Session as permitted by Section 121.22 (G)(1) of the Ohio Revised Code, to consider the employment of public employees.

Vote: Dr. L. Wyse, yes; D. King, yes; K. O'Brien, yes; M. Patrick, yes; J. Wagner Feasel, yes. Motion carried.

Executive Session Adjourned at 10:37 p.m.

Adjourn Dr. L. Wyse moved, M. Patrick seconded that the regular meeting of the Olentangy Local School District Board of Education be adjourned at 10:38 p.m.

Vote: Dr. L. Wyse, yes; M. Patrick, yes; D. King, yes; K. O'Brien, yes; J. Wagner Feasel, yes. Motion carried.

J. Wagner Feasel, President	Emily Hatfield, Treasurer

Certificate Section 5705.412, Ohio Revised Code

It is hereby certified that the Olentangy Local School District Board of Education, Delaware County, Ohio, has sufficient funds to meet the contract agreement, obligation, payment or expenditure for the above, and has in effect for the remainder of the fiscal year and succeeding fiscal year the authorization to levy taxes which, when combined with the estimated revenue from all other sources available to the district at the time of certification, are sufficient to provide operating revenues necessary to enable the district to operate an adequate educational program on all days set forth in its adopted school calendar for the current fiscal year and for a number of days in the succeeding fiscal year equal to the number of days instruction was or is scheduled for the current fiscal year.

Treasure
Superintendent of Schools
President, Board of Education

# CLASSIFIED SUBSTITUTES 2020-21 School Year

Recommended for Board of Education Approval on June 10, 2021

Ensign, Tamara

Beachyley, Colton

Bowles, Shaundra

Russell-Seymour, Melissa

# CLASSIFIED SUBSTITUTES 2021-22 School Year

Recommended for Board of Education Approval on June 10, 2021

Abbott, Benjamin Lucas, Julie
Abouchahine, Riham Lynch, Judith

Agler, Robin Ma, Ying Lok Enoch
Alappati, Baby Sujatha Maderia, Jessica
Altizer, Brooke Madiraju, Leela
Anderson, Errin Madison, Delano
Annareddy, Sribindu Mahajan, Shafali
Anthony, Barbara Mallipeddi, Aparan
Arango, Bibiana Manam, SRILAKSHMI

Audinno, Kristine Marks, Darvell Bagum, Jarina Martin, Tracey Barendse, Molly Marzich, Amy Bartz, Andrew McClellan, Lasheta McCollum, Lisa Barwinski, Karen Basile, Tamara McCoy, Karen Bass, Christine McDarmont, Megan Beachley, Madison McGee, Nathan Beachy, Joshua McGreevey, Karen

Becerril-Guzman, Mayra Mchugh, Jean
Bellay, Christine McKibben-Smith, Stefanie
Berridge, Christi McMonagle, Elizabeth
Berry, Amie Meade, Charles

McGrothers, Kim

Meyyappan, Meenakshi

Berry, Amy
Medeiros, Carlene
Bhandari, Sangeeta
Meeker, Noelle
Bisani, Kajal
Merchant, Pamela
Bishop, Raelynn
Merkel, Melissa
Black, Kristen
Metcalf, Teresa

Bonandi, Camila Meyer, Holly

Bowman, Whitney
Boyd, Kenyatta
Michael, Ronda
Brady, Monica
Miller, Benjamin
Bragg, Stephanie
Miller, J Ryan
Breault, Gil
Miller, Joshua

Bruck, Anna Miller, Nathaniel Bruncak, Melissa Miller, Nicole Miller, Shannon Bryan, Flora Buday, Tracy Miller, Zachary Buening, Michele Miner, Ethan Burkhart, Theresa Mistry, Jignasha Burns, Betty Jo Mohamed, Amira Burns, Brittany Mohan, Preethi Byrnes, Jennifer Molina, Candece Carmendy, Lori Monago, Rebecca Carrier, Logan Moore, Selinda Morgan, Jennifer Carrier, Carson Carrier, Riley Morton, Chelsea Carroll, Charles Mothi, Sareetha Carson, Cathy Nagode, Michael Chambers, Jessica Nagy, Jeff

Chapman, Timothy

Chapman, Timothy

Narayanam, Nandini

Chapman, Amanda

Chennamsetty, Vaahin

Chhajed, Deepmala

Chirico, Amanda

Chirico, Anthony

Nauman, Amanda

Nelson, Diane

Norfolk, Elizabeth

O'Brian, Holly

Choudhary, Priyanka
Ciminillo, Scot
Claar, Lisa
Clifford, Amy
Clifford, Luke
Clifford, Mitchell
Clifford, Mitchell
Clored, Value Clifford, John
Cloop Clifford, Mitchell
Cloop Clifford, Mitchell
Cloop Clifford, Mitchell
Cloop Clo

Cohagen, Catherine

Collier, Kim

Combs, Collin

Contini, Stefanie

Cooke, Trudy

Cooper-Jermann, Michelle

Parker, Janelle

Patel, Bhoomika

Patel, Mahendra

Patel, Monal

Patel, Pratima

Patel, Sejal

Cosner, Michelle Patinjara Purayil, Smitha

Counes, Ratna Patrick, Nelli
Crabtree, Amanda Pawa, Rani
Crawford, Beverly Pei, David
Cruz, Nuria Penry, Jeffrey
Cunningham, Stephen Perisol, Deb
Cutlan, Rebecca Philip, Deven
Dacre, Sarah Piccioni, Lisa

Darbaker, Patricia Pichika, Visweswari
Dave, Vidushi Pickens, Nancy
Davis, James Piper, Holly

Decot, Laura Ponnusamy, Kasilakshmi

Dempsey, Alane Price, Keith

Dennis, Beth Ramanathan, Vallikannu

Deroy, Wendy

Devnani, Sangeeta

Ranalli, Amy

Diehr, Kelley

Randall, Dana

Dikkar, Lisa

Rankin, James

DiMantova, Katherine Ann

Ransom, Faith

Dray, Anne Rea, Mike Drosos, Katherine Rellinger, Melanie Duarte, Kaleb Rivera, Kathy Dupont, Sarah Robinson, Christine Durbin, Joseph Robison, Marcy Efstathiou, Kalliopi Rose, Amber Rosko, Diane Enders, Michelle Endres, Kalyn Runyon, Garrett Enis, Kelly Runyon, Griffin

Evans, Michelle Russell-Seymour, Melissa

Rusnak, Georgene

Even, Kelly
Rustagi, Sonika
Fidler, Maxwell
Ryan, Alycia
Fidler, Reid
Sampath, Vidya
Fischer, Carol
Sanzone, Susan
Fletcher, Jessica
Sargent, Jennifer
Forbes, Ryan
Sayers, Kelly
Foreman, Kaden
Scherner, Jodi

Ensign, Tamara

Forshaw, Alida Senthilkumar, Vanithanagalakshmi

Frank, Stephanie Severance, Tricia Fraser, Becky Sexton, Connor Gadeela, Archana Shanigaram, Sarala Gardner-Frank, Holly Sharma, Ambika Garg, Vasudha Sharma, Archana Garipalli, Radhika Shaver, Elisabeth Gebhardt, Kendra Sherrow, Bernice Geller, Mary Shetty, Chetana Gellner, Jeremy Shomaker, Lynn Gellner, Sarah Shults, Mary Ghadi, Shilpa Sidick, Melissa Gill, MaKayla Siebeneck, Noni Gillespie, Keri Silva, Janett Gischel, Abigail Smelker, Sabrina Gleckler, Eli Smith, Andrea Gomolak, Kathleen Smith, Michele Snelling, Scot Gossing, Cheryl

Gossing, Cheryl
Graf, Richard
Griffiths, Kim
Guastella, Charlotte
Guiver, Shelly
Gunn, Susan
Haas, Gretchen
Soundarajan, Chitra
Spangler, John
Spellman, Rick
Spriggs, Delores
Sridhar, Nirmala

# CLASSIFIED SUBSTITUTES 2020-21 School Year

Recommended for Board of Education Approval on June 10, 2021

Ensign, Tamara

Beachyley, Colton

Bowles, Shaundra

Russell-Seymour, Melissa

# CLASSIFIED SUBSTITUTES 2021-22 School Year

Recommended for Board of Education Approval on June 10, 2021

Abbott, Benjamin Lucas, Julie
Abouchahine, Riham Lynch, Judith

Agler, Robin Ma, Ying Lok Enoch
Alappati, Baby Sujatha Maderia, Jessica
Altizer, Brooke Madiraju, Leela
Anderson, Errin Madison, Delano
Annareddy, Sribindu Mahajan, Shafali
Anthony, Barbara Mallipeddi, Aparan
Arango, Bibiana Manam, SRILAKSHMI

Audinno, Kristine Marks, Darvell Bagum, Jarina Martin, Tracey Barendse, Molly Marzich, Amy Bartz, Andrew McClellan, Lasheta McCollum, Lisa Barwinski, Karen Basile, Tamara McCoy, Karen Bass, Christine McDarmont, Megan Beachley, Madison McGee, Nathan Beachy, Joshua McGreevey, Karen

Becerril-Guzman, Mayra Mchugh, Jean
Bellay, Christine McKibben-Smith, Stefanie
Berridge, Christi McMonagle, Elizabeth
Berry, Amie Meade, Charles

McGrothers, Kim

Meyyappan, Meenakshi

Berry, Amy
Medeiros, Carlene
Bhandari, Sangeeta
Meeker, Noelle
Bisani, Kajal
Merchant, Pamela
Bishop, Raelynn
Merkel, Melissa
Black, Kristen
Metcalf, Teresa

Bonandi, Camila Meyer, Holly

Bowman, Whitney
Boyd, Kenyatta
Michael, Ronda
Brady, Monica
Miller, Benjamin
Bragg, Stephanie
Miller, J Ryan
Breault, Gil
Miller, Joshua

# CLASSIFIED SUBSTITUTES 2020-21 School Year

Recommended for Board of Education Approval on June 10, 2021

Ensign, Tamara

Beachyley, Colton

Bowles, Shaundra

Russell-Seymour, Melissa

# CLASSIFIED SUBSTITUTES 2021-22 School Year

Recommended for Board of Education Approval on June 10, 2021

Abbott, Benjamin Lucas, Julie
Abouchahine, Riham Lynch, Judith

Agler, Robin Ma, Ying Lok Enoch
Alappati, Baby Sujatha Maderia, Jessica
Altizer, Brooke Madiraju, Leela
Anderson, Errin Madison, Delano
Annareddy, Sribindu Mahajan, Shafali
Anthony, Barbara Mallipeddi, Aparan
Arango, Bibiana Manam, SRILAKSHMI

Audinno, Kristine Marks, Darvell Bagum, Jarina Martin, Tracey Barendse, Molly Marzich, Amy Bartz, Andrew McClellan, Lasheta McCollum, Lisa Barwinski, Karen Basile, Tamara McCoy, Karen Bass, Christine McDarmont, Megan Beachley, Madison McGee, Nathan Beachy, Joshua McGreevey, Karen

Becerril-Guzman, Mayra Mchugh, Jean
Bellay, Christine McKibben-Smith, Stefanie
Berridge, Christi McMonagle, Elizabeth
Berry, Amie Meade, Charles

McGrothers, Kim

Meyyappan, Meenakshi

Berry, Amy
Medeiros, Carlene
Bhandari, Sangeeta
Meeker, Noelle
Bisani, Kajal
Merchant, Pamela
Bishop, Raelynn
Merkel, Melissa
Black, Kristen
Metcalf, Teresa

Bonandi, Camila Meyer, Holly

Bowman, Whitney
Boyd, Kenyatta
Michael, Ronda
Brady, Monica
Miller, Benjamin
Bragg, Stephanie
Miller, J Ryan
Breault, Gil
Miller, Joshua